Multiplying Binomials with a Coefficient of 1

@ (x-7)(x+5)

@ (y+11)(y-12)

@ (x+3)(y-11)

(x-10)(x + 5)

@3 (u+9)(u-7)

@ (m-3)(m + 3)

® (u-4)(u-6)

(m - 5)(m +5)

) (@a-9)(a+9)

(x+4)(x+7)

® (a+2)a-7)

® (b+9)(a-9)

@ (n+7)(n-6)

@ (m - 8)(m + 5)
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Multiplying Binomials with a Coefficient of 1

Answers
@ (x-7)(x+5) @ (m-3)(m + 3)
X*-2%x-35 m?-9

@ (y+11)(y-12)  ® (u-4)(u-6)

yz—y—132 u?-10u + 24

@ (x+3)(y-11) (m-5)(m + 5)

seyt= 1 Tog 4.3y = 33 m? - 25

19 (x-10)(x + 5) ) (a-9)(a+9)

x?-5x-50 a’-81

@3 (Uu+9)(u-7) 4 (x +4)(x+7)

u’?+2u-63 xX?+11x + 28

® (a+2)a-7)

a’-5a-14

® (b+9)(a-9)

ab + 9a-9b - 81

@ (n+7)(n-6)

n?+n-42

uv-5u-v+5

@5 (m -8)(m + 5)

m?-3m - 40



